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50 n
UX;,=UY =T, where each X:‘
i=1 i=1

Let

contains 10 elements and each Y:‘ contains
5 elements. If each element of the set T is
an element of exactly 20 of sets X,'s and

exactly 6 of sets Y.'s, then n is equal to :
Options :
40503640946. 15

40503640947, 30

40503640948, 45

40503640949, U
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Options :
40503640946, 15

40503640947, 30

40503640948, 45

40503640949, U

Question Number : 52 Question Id : 40503611282 Question Type : MCQ Option

.
gcollegedunlaé
India’s largest Student Review Platform

Display Question Number : Yes Is Question Mandatory : No Single Line Question wpuvu « ivo Upuun

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



Let A = 0 bein R. If a and B are the roots
of the equation, ¥ —x+2h=0and a and vy

are the roots of the equation,

3x2—10x+ 272 =0, then B—: is equal to :

Options :

40503640950, -0

40503640951, 27
40503640952, 18

40503640953, 92
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Options :

40503640950, 0

40503640951, 27
40503640952, 18

40503640953, ¢
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If a and b are real numbers such that

1+i3

(2 +L‘l‘.:|4 =a + ba, where o = S

then a +b is equal to :
Options :
40503640954, ¢

40503640955, 2+

40503640956, 33

40503640957, 27
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gfg a 991 b UM amafas =AW T f®
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a+b =l HH % :
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40503640954, 9

I3
W

40503640955.

40503640956, 3

40503640957, 27
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If the system of equations

xty+z=2

2x +4y—z=6
Ix+2y+Az=

has infinitely many solutions, then :

Options :

40503640958.

40503640959.

40503640960.

40503640961.

L
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Ifz T &+
xt+y+z=2
2x+4y—z=6
x+2y+hz=p
FITAEAE,
Options :
B TR
40503640958, T 2H= 7O
Y= :
40503640959, Mt 2Zp=14
.
40503640960, 2N TH=3
i) — 7
40503640961, M TH=14
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Suppose the vectors x, x, and x, are the
solutions of the system of linear equations,
Ax=Db when the vector b on the right side
is equal to hl, b2 and h3 respectively. If

1 0 0 1
=11l =12Lx3=|0| 1 =|D],
1 1 1 0
0 | 0
b, =|2|and b3 =|0|, then the

(0 2

determinant of A is equal to :

Options :
1
40503640962, 2

40503640963, 2

MW

40503640964.

40503640965, 4
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A TG xy, x, T 1, TGF FHE 14
Ax=b ¥ T@ ¥, Vaf® 3 AR F AW
b, A by, b, AT b, F aEX T AT

1 0 0 1
¥ =|1 =2, %=(0],b;=|0].
1 1 1 0

b, =|2|@M by =|0| ¥ W A F Anrfors

FAAE :
Options :

B | =

40503640962.

40503640963, 2

MW

40503640964.

40503640965, 4
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If for some positive integer n, the
coefficients of three consecutive terms in
the binomial expansion of (1 +x)"* 2 are in
the ratio 5 : 10 : 14, then the largest
coefficient in this expansion is :

Options :

40503640966, 292

40503640967, 330

40503640968, 462
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40503640969, 792
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M fFel g n % fae, (1+x)" 5%
598 WER H M AT 981 % [OE 5 10 :
14F S04 9 € O 39 TR H g9 g =72
Options :

40503640966, 292

40503640967, 330

40503640968, 462
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40503640969.

Question Number : 57 Question Id : 40503611287 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let - TP Fp— , 8y be a given A.P. whose
common difference is an integer and
5"=al+az+ ..... i Ha1=1ra"=3[]{] and

15 = n = 50, then the ordered pair

(5, 4 a,_4) isequalto:

n
Options :

3, .,
40503640970. (2490, 248)

. ",
40503640971. (2450, 249)

40503640972, (2490, 249)

40503640973. (2450, 248)
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HH a4, a,, ... ,aliﬁﬁﬁwﬁﬁlﬁﬁ%
fFg®1 FIEHAT TF qUfH & 790
5"=a1+a2+ ..... -I-a"'%l ?ﬂ:c!alzl,anzf}[][]
91 15 = n = 50 €, @ &fAa g
S, 42, ) TEE:

Options :

3, .,
40503640970. (2490, 248)

) 7
40503640971. (2450, 249)

40503640972, (2490, 249)

40503640973. (2450, 248)
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Let f: (0, ©)—(0, =) be a differentiable
function such that f(1)=e and

lim @) -0 _

t—x L

0.

X
If f(x) =1, then x is equal to :

Options :

40503640974. ©

1

40503640975. €
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HA f: (0, ©)—(0, =) TH TH FTH114
e € 5 f(1)=c T

lim U/70) Z 070 _ ¢ af fr)=1

i t—x
%, Al x F HA % -
Options :

40503640974, ©
1
40503640975. €

40503640976, 2€
b |
2e

40503640977
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The function f(x) = j

15 :

Options :

both continuous and differentiable
on R —{1}.

40503640978.

b3 | = 4-_~.|:'|‘
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continuous on R-{-1} and

continuous on R-{1} and

both continuous and differentiable

40503640981, OnR—{—1}.
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|— +tan"'x,|x| =1
W,f{xhjj

Options :

R— {1} ¥ Tad 3 aFed, eFi, €

40503640978
R—{-1} ¥ ®dd @M R—-{-1, 1} #

40503640979, ST €1

R—{1} ¥ ¥ad aam R—{-1, 1} &
40503640080, TP B

R—{-1} ¥ Haq 3R HaeherE, S,
40503640981, €
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2
40503640983. ~

40503640984, 2

'j-l_‘\-u'l'E
40503640985, =
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PSINY | HCOSY FhT =IAdH °HH % .

Options :

40503640982.
40503640983.

40503640984.

40503640985.
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The integral

.n".-.
L " tan’x-sin”3x (2sec’x-sin?3x + 3tanx-sinéx)dx is

A

equal to :

Opti : i
ptions | gcollegedunlaé

7
40503640986, 18



i
9

40503640987,
=
2
40503640988,
J X
40503640989, 18
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HHIA
jrﬁ tan®x-sin?3x(2secZx-sin?3x + 3tanx-sinbx)dx
FHAE :
Options :
7
40503640986, 18

WO | e

40503640987.

k3| o

40503640988.

40503640989.
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The area (in sg. units) of the largest rectangle
ABCD whose vertices A and B lie on the
r-axis and vertices C and D lie on the

parabola, y= 12 —1 below the x-axis, is :

Options :
2
40503640990, 33
1
3.3
40503640991 33
T
40503640992, V3
4
3
40503640993,
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39 a4 91 3AEd ABCD, forwek vitd fag A
T B, x-31%1 W foopd & en ¥ f9g C =D,
x-381 F A4, Waed y =221 R fem & =
B (I THEAi ) B

Options :
2
343
40503640990. 33
" d
343
40503640991. V3
4 ;
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4
3
40503640993.
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The solution of the differential equation

d_y y +3x
dx log.(y + 3x)

F3=101s:

(where C is a constant of integration.)

Options :
—1 +3x)=C
40503640004, ¥ 108y +3%)
—2 )=C
40503640995, X~ 2108y +3x)=C
1 2
x— —{log.iy +3x)} =€
40503640996. 2
1 .2
y+3x ;f_lnge,r} =C
40503640997. -
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HAaHA AR

ﬂ y+3x
dx loge(y + 3x)

F3=—0FBAT

(F21 C Us gH&ed A= 2 1)
Options :

40503640904, ¥ 108ely +31)=C
' gcollegeduniaé
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x — ~(log(y +3%))* =C

Fd | =

40503640996.

-

(logex)” =C

y+

Fd | =

40503640997.
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If the perpendicular bisector of the line
segment joining the points P(1, 4) and
Q(k, 3) has y-intercept equal to —4, then a
valueof kis:

Options :

40503640998, V14

40503640999, 2

40503641000, V13

40503641001, —4
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Afs fagad P(1, 4) 991 Q(k, 3) = THam e
TS F a9 HgHSTE H y-Ha.gue 4
AT UF AR

Options :

40503640998, V14

40503640999, 2

40503641000, V13
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40503641001, —4
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The circle passing through the intersection
of the circles, x2+ yz— 6x=0 and
12+ yz —4y =0, having its centre on the line,
2x—3y+12=0, also passes through the
point :
Options :
40503641002, (I 73)

40503641003, (3 1)

40503641004, (—36)

-1,3
40503641005. (=1.3)
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ﬁ?ﬁ x2+y?—6x=0 991 22 +y2—4y=0 *
Yiqeed a5 9 2 % S a1el 98 99 fadeh

F2, W@ 20 -3y +12=0 R fom g, FA 9
fafagafisiamme 92 :

Options :

40503641002, L 73

40503641003, (73 1)

osmoan. £ B collegedunia
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Let x =4 be a directrix to an eIIipse whose

centre is at the Grigin and ils cccen’rricit}-' 15

%. If P(1, B), B >0 is a point on this ellipse,

then the equation of the normal to it at PP

15 :
Options :
4% — =j
40503641006, X 3V =2
Ay — Py =
40503641007, X2y =1

40503641008, X — 2y =5

40503641009, /X 4 =1
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HFAT x = 4 Ueh UH 19 &1 Uah (4901 2, fora
ﬁﬂﬁﬁgﬁ%ﬁmmm%%l afg
P(1, B), B > 0, 30 a9 W feod ush fag 8,
TUF PR Wi T SAfue F gHE g

Options :
dx —3y=

I~

40503641006.
I
40503641007, X2y =1

40503641008, X —2y=5

40503641009, /X 4y =1
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The distance of the point (1, —2, 3) from

the plane x—y+z =5 measured parallel to
the line % — = —— 18

Options :

3
40503641010, 7

40503641011.

|

40503641012.

SIESE

40503641013.
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fag (1, —2, 3) F A x—y+2z=5 T @@

X y S = * ~ r o]

S =2 = — & HHE A e g
2 3 -6 ~
Options :

3
40503641010, 7

40503641011,

40503641012, 7
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In a game two players A and B take turns
in throwing a pair of fair dice starting with
player A and total of scores on the two dice,
in each throw is noted. A wins the game if
he throws a total of 6 before B throws a total
of 7 and B wins the game if he throws a
total of 7 before A throws a total of six. The
game stops as soon as either of the players
wins. The probability of A winning the
game is :
Options :
5
40503641014, ©

5
40503641015, 31

31
40503641016, ©1

30
40503641017. 61
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e el § 2 figerst A 991 B = = | S
Tl % T F e €, Sl aers A T
AR FIAN €, T oI =) <1 9T WA
i1 =1 4 2 fa o ¥ afs B R e
T 9T % 3 1 A 7 A F U A G
Thep T 9TE] & a1 o1 A1 6 3 SIS, 91 A
e & WafE A R ek 0 9rEl % S @
M 6 AH F T2el, B §RI Teh T 9TH1 & 3HHi
o1 IF 7 3 90 2, o BStaa & | R oft v
figetrsl & Sfidd W a@a g el S e | A%
e T ST AT E
Options :

o |

40503641014.

40503641015, 31

31
40503641016, ©1

30
40503641017. ©1
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The angle of elevation of a cloud C from a
point P, 200 m above a still lake is 30°. If
the angle of depression of the image of C
in the lake from the point P is 60°, then PC
(in m) is equal to :
Options :
40503641018, 100 Qcollegeduniaé

' e
40503641019, 200v3



40503641020, +00

40503641021. 10073
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U T S 9t g & a9 200 =i F
FEE W o uF 9 P A uF ASea C W
IFA HIW 30° T | AfG C o el H wiatad #1
P | SSTHT HI 60° T, T PC (i #) T :
Options :

40503641018, 100

40503641019, 2003

40503641020, *00

4003
10503641021, 200V3

Question Number : 70 Question Id : 40503611300 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Contrapositive of the statement :

‘If a function fis differentiable at a, then it
is also continuous at a’, is :
Options :
[f a function fis continuous at a, then

40503641022, 18 differentiable at a.

If a function fis continuous at a, then ;
R collegedunia:
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If a function fis not continuous at a,

40503641024 then it is not differentiable at a.

If a function fis not continuous at a,

40503641025. then it is differentiable at a.
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EXEN
‘Ifg U oM f,a W FaFGEE 8, T A a W
Haa o 2’
F1 WAATEHF oA T
Options :

Afg UF e  f,a W Had 8, 9 T8 a W
40503641022, FTFEHA T

IfE U FoF f,a T HTE €, 9 TE a W
40503641023, TR T2l ¢ |

If% T FeM f, a W HAd TE ¢, A A2 a
40503641024, T ST T T

If% T FeH £, a T HId TEl ¢, @ T8 a

40503641025, T STAHCTHA T
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If the variance of the fnllnwmg frequency

distribution :
Class : 10-20 20-30 30-40
Frequency : 2 x 2

is 50, then x is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002
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Eui : 10-20 20-30 30-40
AN : 2 x 2

HYFOI50 S, A x FHAA R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503611302 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

A test consists of 6 multiple choice
questions, each having 4 alternative
answers of which only one is correct. The
number of ways, in which a candidate
answers all six questions such that exactly
four of the answers are correct, is

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002
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T T H 6 TgfaFed ¥ € a9 Ie4F W

F W & for 4 fowey ¥ o 9 Faa

& B U st g 9t 6 9eEi % I TE

WeR &4, AT 9 S 4 91 % 39 Tal &,

FAS R GEE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002
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Let {x} and [x] denote the fractional part

of x and the greatest integer = «x

respectively of a real number x. If
Parae "Bl d 10(n2
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